UNITRUCK®

ZHEJIANG FONHO AUTOMOTIVE CO..LTD

F eI

Solenoid Valve Air Dryer Multi Circuit Protection Valve ~ ECAS Solenoid Valve Fuel Metering Unit Fuel Pressure Unit Pressure Relief Valve




UNITR

BRIEF INTRODUCTION

UNITRUCK Germany is belonged to FONHO Automotive company, currently the brand UNITRUCK covers some ranges of
product groups for European trucks, trailers and bus: Daf, lveco, Man, Mercedes, Renault, Scania, Volvo. Now we have
products range like filter, air dryer, solenoid valve, ABS modulator valve, ECAS solenoid valve, and also for Common Rail
Engine System, like fuel metering unit, pressure relief valve, pressure sensor, etc.

Our goal is to continue to offer products and services at the highest quality level, as we take Quality to be the life of our
company.

The UNITRUCK spare parts come with the following advantages:
1. Quality at European standards, similar to OE;
2. Best quality for the best matched price;

3. Fast reaction to warranty claims and any other possible claim;

By launching our own branded products, UNITRUCK strengthens the role on the market of truck spare parts.
We are looking forward to your mutual cooperation in the future.




BUILT FOR RELIABILITY.

UNITRUCK is one of FONHO's brands, which is registered in Germany and other countries in the world, FONHO is

promoting UNITRUCK brand with Quality & Valued truck spare parts to customers. We hopefully cooperate with your

esteemed company to create our colorful future together with UNITRUCK brand.




QUALITY ASSURANCE

Guarantee quality within 12 months from goods departure.

Control product quality strictly in production line.

Take the responsibility of product failure if it” s caused by our side reason after details checked.
Seriously deal with your questions, claims.

ISO/TS 16949: 2009 Certified

Certificate of Registration




UNITRUCK"

FILTER 01-20
AIRDRYER 21-26
SOLENOID VALVE 27-33
MULTI CIRCUIT PROTECTION VALVE 34-36
ECAS SOLENOID VALVE 37-38
FUEL METERING UNIT 39-42
PRESSURE RELIEF VALVE 43

FUEL PRESSURE SENSOR 44




UNITRUCK"  MRDRYER

AIR DRYER APPLICATION AIR DRYER APPLICATION

UT 1002 Hengst: T300W UT 1002Y Wabco: 432 901 2282
Mann+Hummel: TB1374/3X
Wabco: 4324109272
Wabco: 4324102262
Wabco: 4324102232
Wabco: 4329012282
Scania: 1455253
Scania: 1384549
Scania: 1774598
Mahle: AL14
Donaldson: P783753

With Oil Separator

UT 1008 RENAULT: 50 01 865 404 UT 1008Y Wabco: 432 901 2452
VOLVO: 20754416, 21267818
MANN: TB 1394/5 X
KNORR: K014712, K005686
WABCO: 432901 245 2

OD * H: @139x168mm
THREAD: M39X1.5-6H(LH)

With Oil Separator

UT 1009 DAF: 1681575 UT 1009Y Wabco: 432 901 2462
MANN: TB 1394/6 X
KNORR: K015857, K039455
WABCO: 432901 246 2

OD * H: @139x168mm
THREAD: M41X1.5-6H

With Oil Separator

UT 1374 Hengst: T250W UT 1374Y Wabco: 432 410 2442 4329012232
Mann+Hummel: TB1374X
Wabco: 4324102227 4324100202
Knorr: 1140100F
Mercedes Benz: A0004293695 A0004291097
Mercedes Benz: A0004291297 A0004300969
Volvo: 3090268 3090288 3091200
Scania: 1375997
Renault: 5000295421 5001843522
Daf: 1504900R
Iveco: 2992261 1900812
MAN: 1368731
Donaldson: P781466

With Oil Separator

UT 1003 VOLVO: 20546795, 20773824 UT 1005 DAF: 1391510, 1439553
SCANIA:139 3551 HENGST: T200W
HENGST: T350W MANN: TB1364X
HALDEX: 78964 KNORR: 1141300F

OD *H: @152x180mm

uT 1027 VOLVO: 22223804 UT 1035 BOSCH: 1507434000
VOLVO: 21412848 KNORR BREMSE: 1507434000
RENAULT: 7422223805 MANN: TB719
RENAULT: 7422223804 MERCEDES BENZ: A0004295295
KNORR: K096837K50 IVECO: 1908449




BUILT FOR RELIABILITY. 0"‘ FIIITEB

OILFILTER APPLICATION

UT 3003 CNHTC: 61000070005
FLEETGUARD: LF4054
OTHERS: JX0818

UT 3021A OEM: 466634
MANN: W 11102/4
HENGST: H200W01
FLEETGUARD: LF3321

UT 3028 HINO: 15607-2190,
FLEETGUARD: LF16226

UT 3038 OEM: 0267714
MANN: W 13145/3
HENGST: H300W01
FLEETGUARD: LF3493

OD * H: @139x310mm
THREAD: 1,1/2"-16UNF-2B

UT 3037 OEM: 3825970, 3318853
MANN: WP12300
HENGST: H300W03
FLEETGUARD: LF3000

OD * H: @119x298mm
THREAD: 2,1/2-12UNF-2B

UT 3047 OEM: 2992544
MANN: W 1170/7
HENGST: H230W
FLEETGUARD: LF3977

OIL FILTER
uT 3021

UT 3024

UT 3035

UT 3036

UT 3041

UT 3050

UNITRUCK

APPLICATION

OEM: 466634

MANN: W 11102/4
HENGST: H200WO01
FLEETGUARD: LF3321

OEM: 6735-51-5140,6736-51-5142
KOMATSU: KS-103-8
FLEETGUARD: LF3349, LFP780

OEM: 1310901

MANN: W 13145/6
HENGST: H300W02
FLEETGUARD: LF3737

OD *H: @139x310mm
THREAD: M42X2-6H

OEM: 477556

MANN: WP11102
HENGST: H200WN
FLEETGUARD: LF3654

OEM: 477556

MANN: WP11102

HENGST: H200WN
FLEETGUARD: LF3654MANN:
W1173, W11102/4

HENGST: H200W01
FLEETGUARD: LF667

OEM: 4989314, 4897898
MANN: W 950/26
HENGST: H19W10
FLEETGUARD: LF16015




UNITRUCK"

OILFILTER
UT 3054

UT 3058

UT 3161

UT 3088

UT 3095

APPLICATION

OEM: 3100304
MANN: WA940/1
FLEETGUARD: WF2071

OD * H: @95x107mm
THREAD: 11/16"-16UNF-2B

OEM: 3101869, 2882674
MANN: WP12120
FLEETGUARD: LF9001

OD *H: @119x298mm
THREAD: M95X2.5-6H

OEM: 3889310
MANN: W1294
HENGST: H240W
FLEETGUARD: LF670

OEM: 3315115
MANN: WA923/5
FLEETGUARD: WF2073

OD *H: @95x107mm
THREAD: 11/16"-16UNF-2B

OEM: 4285963 / 4429729

HINO: 15607-1600/ 15607-1731.2.3
KOMATSU: KS-192-7N
FLEETGUARD: LF3618
FLEETGUARD: LFP5760

MANN: WD13145/1
HENGST. H300WDO01
FLEETGUARD: LF691A

OD * H: @139x303mm
THREAD: 1,1/2"-16UNF-2B

OILFILTER

BUILT FOR RELIABILITY.

OIL FILTER APPLICATION

UT 3055

UT 3057

a

~

P
g

LS

UT 3059

UT 3081

UT 3091

UT 3096

OEM: 3401544
HENGST: H300W07
FLEETGUARD: LF9009

OEM: 3406810, 3101868
FLEETGUARD: LF9000

OD * H: @119x352mm
THREAD: M95X2.5-6H

OEM: 3889310
MANN: W1294
HENGST: H240W
FLEETGUARD: LF670

OEM: 90915-YZZD4

OEM: 478736

MANN: W 11102/27
HENGST: H200W04
FLEETGUARD: LF3675

OEM: 3100305
MANN: WA923/6
FLEETGUARD: WF2072

OD * H: @95x107mm
THREAD: 11/16"-16UNF-2B




OILFILTER

BUILT FOR RELIABILITY.

OILFILTER APPLICATION

UT 3097

uT 3102

UT 3525

UT 3116

UT 3295

UT 3519

OEM: 3305370
MANN: WA940/7
FLEETGUARD: WF2075

OD * H: @95x137mm
THREAD: 11/16"-16UNF-2B

OEM: 3831236

MANN: W 962
HENGST: H18W01
FLEETGUARD: LF4054

OEM: MD360935

OEM: 1345332

MANN: W13110
HENGST: H300W06
FLEETGUARD: LF3843

OD *H: @95x153mm
THREAD: 3/4"-16UNF-2B

OEM: 26300-02502

OEM: 26300-42000
ARAS: SPC 306

OIL FILTER
UT 3098

UT 3524

UT 3150

UT 3282

UT 3518

UT 3520

UNITRUCK"

APPLICATION

MANN: WA940/9
HENGST: H28WF
FLEETGUARD: WF2096

OD * H: @95x145mm
THREAD: M16X1.5-6H

OEM: 1230A045

FLEETGUARD: LF3346
MANN: W1170
HENGST: H220W

OEM: 90915-YZZE1

650401

OEM: 8971482700
ARAS: SP 705




4 ®
UNITRUCK OIL FILTER
BUILT FOR RELIABILITY.
OIL FILTER APPLICATION

UT 3523 OEM: 90915-YZZD2

ADVANTAGE

High efficiency to prevent smaller particles damage the engine system.

Long life for both passenger cars and commercial vehicles.

German multi-pass testing machine can conduct test according to IS019438. SAE, J905 standard.
High Water-Separated Efficiency will prevent the engine rusted and prolong its life.

Strong R&D team to design according to customer requirements.




FUELFILTER

BUILT FOR RELIABILITY.

FUEL FILTER APPLICATION FUEL FILTER APPLICATION

UT 6012B OEM: 51.12501-7288, 51.12503-0052 uUT 6012M1 OEM: 51.12501-7288, 51.12503-0052
MANN: PL420 MANN: PL420
HENGST: H710WK HENGST: H710WK
RACOR: B160T RACOR: B160T
FLEETGUARD: FS19769 FLEETGUARD: FS19769

OD *H: @110x318mm
THREAD: 1"-14UNF-2B

UT 6021 OEM: 6660458190 UT 6021M1 OEM: 6660458190
MANN: PL270 MANN: PL270
HENGST: H304WK HENGST: H304WK
FLEETGUARD: FS19907 FLEETGUARD: FS19907

OD * H: @110x240mm
THREAD: 1"-14UNF-2B

UT 6038 SEPAR: 600FH, SWK 2000/10 UT 6005M6 OEM: 8159975

**HEATER VERSION FOR 8159975




4 ®
UNITRUCK FUELFILTER
BUILT FOR RELIABILITY.
FUEL FILTER APPLICATION

UT 5403 OEM:6460920701 UT 5404 OEM:818568
HENGST:H278WK HENGST:H110WK

UT 6001 OEM: 74 20 541 383 UT 6002X OEM: 51.12503-0051, 51.12503-6000
MANN: WK940/33X MANN: WK 1080/7X
HENGST: H700W : HENGST: H701WK
RACOR: R260P A RACOR: R90-MER-01
FLEETGUARD: FS19735 FLEETGUARD: FS19914

onuu!

UT 6002 OEM:A 000477 1302 UT 6002M2 MANN: WK 1080/7X
MANN: WK 1080/7X HENGST: H701WK
HENGST: H701WK RACOR: R90-MER-01
RACOR: R90-MER-01 FLEETGUARD:FS19914
FLEETGUARD:FS19914

OD *H: @110x216mm
THREAD: 1"-14UNF-2B

UT 6002M1 OEM:A 000470046 9 UT 6002B OEM:A 000477 1302
MANN: WK 1080/7X MANN: WK 1080/7X
HENGST: H701WK HENGST: H701WK
RACOR: R90-MER-01 RACOR: R90-MER-01

FLEETGUARD:FS19914 " FLEETGUARD:FS19914
OD * H: @110x305mm
THREAD: 1"-14UNF-2B

UT 6005 OEM: 375477 00 02 UT 6008 OEM:A 000477 16 02
MANN: WK 1060/3X MANN: WK1070X
HENGST: H7090WK30 HENGST: H7091WK10
RACOR: R90P FLEETGUARD: FS19950
FLEETGUARD: FS19532 RACOR: R90-D-MER-02, ROOTDMAX

E_—

UT 6009 OEM: A979 47700 15KZ, A958 477 0115 UT 6012 OEM: 1433649
MANN: WK 1060 MANN: PL420X
RACOR: R120-30MB HENGST: H710WK
RACOR: B160T
FLEETGUARD: FS19769




FUEL FILTER

BUILT FOR RELIABILITY.

FUEL FILTER APPLICATION

uT 6014

UT 6020

UT 6023

UT 6060

UT 6060M

uUT 6073

OEM: 3308638, 3315843
FLEETGUARD: FS1212

OEM: 2992662

MANN: WK 950/19
HENGST: H215WK
FLEETGUARD: FS19821

OEM: 20879812, 20788794
FLEETGUARD: FS19920

OEM: 1393640

MANN: WK1060/3X
HENGST: H7090WK30
RACOR: R90P
FLEETGUARD: FS19532

OEM: 1393640

MANN: WK1060/3X
HENGST: H7090WK30
RACOR: R90P
FLEETGUARD: FS§19532

OEM: 26560145
FLEETGUARD: FS19530

FUEL FILTER
uT 6019

UT 6021

UT 6025

UT 6060B

UT 6067

UT 6089

UNITRUCK"

APPLICATION

OEM: 1907539, 1908547, 1930992
MANN: WK950/6

HENGST: H70WK09
FLEETGUARD: FS1254

OEM: 6660458190
MANN: PL270

HENGST: H304WK
FLEETGUARD: FS19907

OEM: 3903410, 3930942
MANN: WK9165X
HENGST: H17WKO06
FLEETGUARD: FS1280

OEM: 1393640

MANN: WK1060/3X
HENGST: H7090WK30
RACOR: R90P
FLEETGUARD: FS19532

OD * H: @110x234mm
THREAD: 1"-14UNF-2B

OEM: A979 477 00 15KZ,

A 958477 0115,A384 477 7015
MANN: WK 1060

RACOR: R120-30MB

OEM:MB220900




UNITRUCK® FUEL FILTER

BUILT FOR RELIABILITY.
FUELFILTER APPLICATION

UT 5002 OEM: 3903640 UT 5005 WEICHAI: 612600081334
FLEETGUARD: FF5052

UT 5006 REF NO.:CX0710 UT 5007 OEM: 5010477855, 5010505337
MANN: WK940/20
HENGST: H18WDKO02
FLEETGUARD: FF5470

UT 5014 OEM: 8193841 UT 5017 OEM: ME035393

MANN: WK 962/7 FLEETGUARD: FF5089
HENGST: H18WKO03

FLEETGUARD: FF5272

UT-5027 OEM:20430751, 20976003 UT 5033 OEM: 1372444, 1373082
MANN: WDK11102/9, WDK11102/1 MANN: WK940/12
HENGST: H200WDK HENGST: H17WKO04
FLEETGUARD: FF5507 FLEETGUARD: FF5297

UT 5035 OEM: 2994048, 500315480 UT 5062 OEM: 3959612

MANN: WK1149 FLEETGUARD: FF5488
HENGST: H152WK

FLEETGUARD: FF5471

UT 5401 OEM:96335719 UT 5402 OEM:0024772701
HENGST:H82WKO02




FUEL FILTER

BUILT FOR RELIABILITY.

FUEL FILTER APPLICATION FUEL FILTER APPLICATION

uT6120 HENGST:H203WK UT 6015 OEM: 3903202, 3843760, 3931062

FLEETGUARD:FS19609 MANN: WK7162X
FLEETGUARD: FS1251

UNITRUCK"®

OD *H: @78x143mm
THREAD: M16X1.5-6H

-

W

UT 5038 OEM: 4897833 uT6071W FLEETGUARD: FS19922
MANN: WK 950/21
HENGST: H18WKO05 -

FLEETGUARD: FF5485

OD * H: @122x203mm
THREAD: 1"-14UNF-2B

OD * H: @95x183mm
THREAD: M20X1.5-6H

B -e-ai:;‘%

uT6071B

FLEETGUARD: FS19922

OD * H: @122x285mm
THREAD: 1"-14UNF-2B

FLEETGUARD: FS19816

OD * H: @122x285mm
THREAD: 1"-14UNF-2B

=@

UT 6041 OEM: 3406889, 4070801 uT 6016 OEM: 3308638
FLEETGUARD: FS$1003 MANN: WK940/36X
! FLEETGUARD: F$1242
0D * H: @95x252mm el
THREAD: 1"-14UNF-2B ' OD * H: @95x168mm

THREAD: 1"-14UNF-2B

UT 6039 OEM: 3329289
MANN: WK 965
HENGST: H181WK
FLEETGUARD: FS1000

OD * H:@95x243mm
THREAD: 1"-14UNF-2B




UNITRUCK®

ECOFILTER APPLICATION

UT 4005 OEM: A402 180 0009, 403 184 0025,
000 184 3825, 422 180 0210
=2 MANN: HU12110/2X
= = HENGST: E251HD11, E251H
FLEETGUARD: LF3327

uT 4007 OEM: 5411840225, 5411800009,
5411800209, 4571840025
MANN: HU 12140X
HENGST: E500HD 129
FLEETGUARD: LF3829

UT 4009 OEM: A0001801709
906 180 0009
MANN: HU945/3X
HENGST: E161H01D28
FLEETGUARD: LF3914

ECO FILTER

BUILT FOR RELIABILITY.

ECOFILTER APPLICATION

UT 4006

UT 4008

uT4012

OEM: CH10929
FLEETGUARD: LF16250

OEM: 366 184 0525, 366 184 0125,
366 184 0825

MANN: H947/1Z

HENGST: E197H D23
FLEETGUARD: LF3607

OEM: 51.05504-0098
MANN: HU 1381X
HENGST: E13HD47
FLEETGUARD: LF3867




ECO FILTER

BUILT FOR RELIABILITY.

ECOFILTER APPLICATION

UT 4015 OEM: 20998807
MANN: HU1390X
HENGST: E416HD86
FLEETGUARD: LF16351

OEM: 1397764

MANN: HU 12170X
HENGST: E34HD97
FLEETGUARD: LF16042

UT 4042 MANN: HU718/1k
HENGST:E11H D57

>

UT 4538 TOYOTA: 04152-31080, 04152-38010

MANN: HU7009Z
HENGST: E814HD191
uT 4579 OEM:93185674

UT 4581 OEM:1088179

UNITRUCK®

ECOFILTER APPLICATION

UT 4024 OEM: A0001802909
MANN: HU 12110X
HENGST: E175HD129
FLEETGUARD: LF16046

UT 4034 OEM: A0001801609, A9041800009
MANN: HU931/5X
HENGST: E160H01D28
FLEETGUARD: LF3827

UT 4054 OEM: 322-3155

UT 4557 TOYOTA: 04152-40060, 04152-37010,
04152-YZZA6
MANN: HU6006Z

L

UT 4580 OEM:11427512300




4 ®
UNITRUCK ECO FILTER
BUILT FOR RELIABILITY.
ECO FILTER APPLICATION

UT 8001-8002 OEM: CH10930 UT 8003 OEM: 541 090 005 1, 541 092 090 5,
FLEETGUARD: FF5714 541090015 1,A457 090 005 1
MANN: PU999X
HENGST: E500KP02D36
FLEETGUARD: FF5405

<D

UT 8004 OEM: A906 092 0305, A000 090 1551, UT 8005 OEM: 26560163
A906 092 0105, A906 092 0205
MANN: PU 1046/1X

HENGST: E52KPD36 o
FLEETGUARD: FF5380 @
'l

LIRS
i

UT 6006 OEM: 26560201 uUT 8007 OEM: 20998805
CATERPILLAR: 1R0794, 1R1804 MANN: PU1058X
HENGST: E416KPD36
FLEETGUARD: FF5769

! Ta»

RACOR: 2010PM, 2010SM, 2010TM uT 8014 RACOR: 2040PM, 2040SM, 2040TM

UT 8015 RACOR: 2020PM, 2020SM, 2020TM UT 8017 OEM: 81000000246
MANN: P 811
HENGST: E10KPD10
FLEETGUARD: FF14

UT 8018 OEM: 51.12503-0061 UT 8019 OEM: 51.12503-0042
MANN: PU 1059X MANN: PU 855X
HENGST: E422KPD98 HENGST: E56KPD72
FLEETGUARD: FF5629 FLEETGUARD: FF5481




ECO FILTER

BUILT FOR RELIABILITY.

UT 8020 OEM: 0004773115
MANN: BFU 900 x

UNITRUCK"®

ECOFILTER

UT 8023

APPLICATION

OEM: 1873018
MANN: PU941 X

HENGST: E10KFR4D10 HENGST: E57TKPD73
ﬂ FLEETGUARD: FF5054 FLEETGUARD: FF5683
,\.
I
e &L

UT 8033 OEM: 1616361, 1643080 UT 8069 OEM: 4461492
MANN: PU966/1X

HENGST: E82KPD73
FLEETGUARD: FF5695 -
ey

\L
UT 8071 OEM: 360-8959 UT 8088 OEM: 23304-78091
SAKURA: EF-13070

L—

UT 8134 OEM: 129-103 UT 8135 OEM: 129-109

-
e
|

- -

UT 8136 OEM: 129-103 UT 8028 OEM: 1397 766 , 1784 782
ALCO: MD-521
HENGST: E66KP D36
MANN: PU999/2X
SCT Germany: SC7039
UFI: 26.009.00
FLEETGUARD: FF5510

UT 8033 OEM: 1616361, 1643080
MANN: PU966/1X

|*| HENGST: E82KPD73
‘h FLEETGUARD: FF5695
i

1




4 ®
UNITRUCK ECOFILTER
BUILT FOR RELIABILITY.
ECO FILTER APPLICATION

UT 3099 OEM: 5262313 UT 3105 OEM: 5266016
FLEETGUARD: LF16352 FLEETGUARD: LF17356

OD *H: @102x173mm OD *H: @100x159mm
THREAD: M27X2

UT 5068 OEM: 5262311 UT 5067 FLEETGUARD: FF42000
FLEETGUARD: FF5706
OD * H: ©82.3x116.23mm
OD * H: @93.5x192.5mm THREAD: M16-1.5-6H INT
THREAD: M20X1.56H 2 e

UT 5164 OEM: 5303743 UT 6302 OEM: 5319680

FLEETGUARD: FF63009 FLEETGUARD: FS1098

uT 8011M OEM: 5264870 UT 6036 OEM: 81.12501-0031, 81.12503-0086
FLEETGUARD: FS19925 ASSY. HENGST: E1030K01
FLEETGUARD: FS19605

OD * H: @89x54mm

UT 5164 OEM: 5303743 UT 4029 HENGST: H311W
FLEETGUARD: FF63009 MANN: W13004
IVECO: 5801592275, 2996416
500054655

UT 3135 HENGST: H311W UT 3106 OEM: 2996416, 500054665
MANN: W13004 HENGST: H311W
IVECO: 5801592275, 2996416
500054655




ECO FILTER

BUILT FOR RELIABILITY.

ECOFILTER APPLICATION ECOFILTER

UT 0302 OEM: 0010948304 UT 0304

UNITRUCK®

APPLICATION
OEM: 0010949304

_{

{

<

—

UT 0306

UT 0326

-

uT 0314

uT 0319

UT 0288

MANN: C33922
FLEETGUARD: AF977

OD * H: @386x258mm
END ID: 167mm

OEM: 0040942404
MANN: C411776
FLEETGUARD: AF26165

OD * H: @519x332mm
END ID: 222mm

OEM: 8149064
MANN: C311325/1
FLEETGUARD: AF25631

OD * H: @303x413mm
END ID:152mm

OEM: 1544449
MANN: C351592
FLEETGUARD: AF4560

OD * H: @350x359mm
END ID:210mm

OEM:11110022
MANN: C291420
FLEETGUARD: AF25756

OD *H: @281x525mm
END ID: 150mm

OEM: 1486634

=

UT 0309

uT 0327

UT 0318

2l e

——

uT 0287

UT 0289

MANN: C28715
FLEETGUARD: AF978

OD * H: @338x254mm
END ID: 133mm

OEM: 30945104
MANN: C15200
FLEETGUARD: AF25069

OD * H: @175x329mm
END ID: 74mm

OEM: 8149961
MANN: C311500/1
FLEETGUARD: AF25632

OD * H: @332x413mm
END ID:200mm

OEM: 3827589
BALDWIN: RS54 11
FLEETGUARD: AF26237

OD * H: @240x446mm
END ID:120mm

OEM: 1913500

OEM: 1539675




UNITRUCK"®

ECOFILTER

UT 0329

UT 0331

UT 0390

UT 0344

="

APPLICATION

OEM: 1387549
MANN: C311254
FLEETGUARD: AF25614

OD * H: @308x465mm
END ID:175mm

OEM: 1335678
MANN: C301500
FLEETGUARD: AF25313

OD * H: @304x528mm
END ID:169mm

OEM: 83.08405.0001
FLEETGUARD: AF26353
MANN: C26980

OD * H: @251x480mm
END ID: 170mm

OEM: 3630778
BALDWIN: PA4571
FLEETGUARD: AF25278

OD * H: @417x464mm
END ID:241mm

ECO FILTER

BUILT FOR RELIABILITY.

ECOFILTER APPLICATION

UT 0330

UT 0389

UT 0343

OEM:1335679
MANN: C301240
FLEETGUARD: AF25314

OD * H: @304x448mm
END ID:169mm

OEM: 81.08304.0044
FLEETGUARD: AF1802
MANN: C30850/2

OD * H: @303x476mm
END ID: 191mm

OEM: AF872
DONALDSON: P181099
BALDWIN: PA2333

OD * H: @417x470mm
END ID:241mm




UNITRUCK

BOWL & SEAT

BUILT FOR RELIABILITY.

BOWL & SEAT APPLICATION BOWL & SEAT APPLICATION

UT 9001 USE WITH: UT 9002 USE WITH:
R90-MER-01 R90-MER-01
OEM: A000 477 2516 R120P, R120T
R160T
OD *H: @108x105mm !
THREAD: 83,3/4"-10 OD *H: @114.5x90mm
" THREAD: §3,3/4"-10

UT 9003 USE WITH: UT 9004 USE WITH:
1393640 FS1240, FS1242
FS19816, FS19922
OD *H: @114.5x90mm
THREAD: S3,3/4"-10 OD *H: @101.5x100mm
THREAD: 1,1/4"-10UNF-2B

UT 9005 USE WITH: UT 9006 USE WITH:
PL420, PL270 PL420, PL270

OD * H: @90x116mm OD *H: @90x116mm
THREAD: S80X3-7H THREAD: S80X3-7H WITH SENSOR




UNITRUCK"®

BOWL & SEAT
uT 9007

UT 9009
uT 9011
uT 9013

©

UT 9015

d
1

2

uT 9017

¥

APPLICATION

USE WITH:
R60P, R60T, R90P, RO0OT
R120P, R120T, 8159975

OD *H: @114.5x80mm
THREAD: S3,3/4"-10

USE WITH:
R60P, R60T, R90OP, R90T
R120P, R120T, 8159975

OD *H: @114.5x80mm
THREAD: S3,3/4"-10 WITH HEATER

USE WITH:
600FG

TOOL FOR UNINSTALLBOWLS

USE WITH:
PL 420, PL270

OD * H: @90x116mm
THREAD: S80X3-7H WITH SENSOR

**ROUND PLUG

USE WITH:
1R-0770

BOWL & SEAT

BUILT FOR RELIABILITY.

BOWL & SEAT APPLICATION

UT 9008 USE WITH:
R60P, R60T, ROOP, R90OT
R120P, R120T, 8159975

OD *H: @114.5x80mm
THREAD: $3,3/4"-10 WITH HEATER

USE WITH:
500FG

uT 9010

i

—

USE WITH:
900FG, 1000FG

uT 9012

4

£ .

USE WITH:
20514654

uT 9014

OD * H: @94x100mm
THREAD: S80X3-7H

USE WITH:
R90P, 1393640

UT 9016

OD *H: @114.5x80mm
THREAD: S3,3/4"-10 WITH HEATER

**WITH HEATER

USE WITH:
R90-MER-01

uT 9018

OD *H: @114.5x90mm
THREAD: 83,3/4"-10 WITH HEATER

**WITH HEATER




4 ®
BOWL s. SEAT UNITRUCK
BUILT FOR RELIABILITY.
BOWL & SEAT APPLICATION

UT 9019 USE WITH: UT 9020 AIR SILENCER FOR
FS19816, FS19922 AIRDRYERS

OD *H: @101.5x100mm
THREAD: 1,1/4"-10UNF-2B
**WITH SENSOR

uT 9100 USE WITH: UT 9101 USE WITH:
1393640 8159966

8159975

UT 9102 USE WITH: uT 9103 USE WITH:
R90-MER-01 R90-MER-01
OEM: A000 477 4508 R60P, R60T, R9OP, R90T

® G

R120P, R120T

UT 9104 USE WITH: uT 9105 USE WITH:
PL420, PL270 PL 420, PL270

*WITHOUT PUMP

uUT 9106 USE WITH:
PL270, PL420

**WITH IMPROVED PUMP
FUNCTION




UNITRUCK"®

AIR DRYER
uT 1374

UT 1003

UT 1006

UT 1008

uT 1027

;8

uT 1012

APPLICATION

BENZ: 000 429 3695, 000 429 1097
VOLVO: 3090268, 3090288, 3091200
IVECO: 2992261, 1900812

MANN:TB 1374/X

HENGST: T250W

KNORR: [140100F

WABCO: 432 4100202, 432 410 2227
OD * H: @139x168mm

THREAD: M39X1.5-6H

VOLVO: 20546795, 20773824
SCANIA:139 3551

HENGST: T350W

HALDEX: 78964

OD * H: @152x180mm

SCANIA: 1774598
MANN: TB 1374/3X
HENGST: T300W

WABCO: 432410927 2,432 410226 2

OD *H: @139x180mm
THREAD: G1,1/4"-11

RENAULT: 50 01 865 404
VOLVO: 20754416, 21267818
MANN: TB 1394/5 X

KNORR: K014712, K005686
WABCO: 432901 2452

OD * H: @139x168mm
THREAD: M39X1.5-6H(LH)

VOLVO: 22223804,21412848
RENAULT: 7422223805,7422223804
KNORR: K096837K50

SCANIA: 639205
HALDEX: 71034

UT 1002

UT 1005

UT 1007

UT 1009

uT 1011

HIIE

uT 1013

AIR DRYER

BUILT FOR RELIABILITY.

AIRDRYER APPLICATION

SCANIA:145 5253, 1384549

MANN:TB 1374/3X

HENGST: T300W

WABCO: 4324109272, 4324102262
4324102232

OD * H: @139x180mm
THREAD: G1,1/4"-11

DAF: 1391510, 1439553
HENGST: T200W
MANN: TB1364X
KNORR: 141300F

OD * H: @139x135mm
THREAD: M41X1.5-6H

SAME AS UT 1374, BUT STEEL
CANISTER INSIDE

OD * H: @139x168mm
THREAD: M39X1.5-6H

DAF: 1681575

MANN: TB 1394/6 X
KNORR: K015857, K039455
WABCO: 432 901 246 2

OD * H: @139x168mm
THREAD: M41X1.5-6H

VOLVO: 3090013
TREX: 15265562
HALDEX: 71059

M.A.N: 81521020016

BENZ: 0004293995, 0004294895
MANN: TB 1374/4

WABCO: 4324102202

OD *H: @139x168mm
THREAD: M42X1.5-6H




AIR DRYER

BUILT FOR RELIABILITY.

AIR DRYER APPLICATION

UT-SV 1301

UT-SV 1303

UT-SV 1305

-

4324251010 4324250040 UT-SV 1302

1. Comments: Type: ECAD

2. Comments: Volvo FH, FM

3. Max. operating pressure: 13 bar

4. Unloader: integrated

5. Voltage: 24 V

6. Heater: 894 260 049 2

7. Heating connection: Bayonet

8. Cartridge: 432 901 223 2

11. Exhaust: Thread female M 22x1.5
12. Mounting holes: M 12x1.5

ECAD Volvo FH12/16, FM9/12, FH/FM
20466522 20700794

4324100860 4324101920
1.Cut-out pressure: 8.5+0.2
4. Operational range: 0.7+0.5
5. Voltage: 24 V
6. Heater: 894 260 049 0
7. Heating connection:

DIN 72585-A1-2.1-1-Sn/k2
9. Port1: M 22x1.5
10. Port 21: M 22x1.5
11. Port 22: M 12x1.5
12. Port23: M 12x1.5
Volvo 20553336
Volvo 20410157

UT-SV 1304

LA8286

Exhaust Connector Snap-on Connector
Heater Connection Type Volvo 'D' (2 x @3,5)
Heater Voltage [volts] 24 Volt

Weight [Kg] 3.88 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 17,0
Unloader cut-out pressure [bar] 12,0+0,2
Volvo:9957313 20409515 3172999
3194899 70369130 9517283

UT-SV 1306

UNITRUCK®

e e

AIR DRYER APPLICATION

4324251050 4324250050

3. Max. operating pressure: 13 bar

4. Unloader: integrated

5. Voltage: 24 V

6. Heater: without

7. Heating connection: -

11. Cartridge: 432 901 223 2

12. Exhaust: Thread female M 22x1.5
13. Mounting holes: M 12x1.5

ECAD Volvo FH12/16, FM9/12, FH/FM
2139825 20884103

4324100910 4324101910

3. Cut-out pressure: 12.0+£0.2
5. Voltage: 24 V

6. Heater: 894 260 062 2

7. Heating connection: Socket
11. Cartridge: 432 410 020 2
12. Port 1: M 22x1.5

13. Port21: M 22x1.5

14.Port 22: M 12x1.5

15. Exhaust: Snap-on contour
16. Port4: M 12x1.5

17. Mounting holes: M 12x1.75
Volvo 20546790 20420156
Volvo 85000332 85000114
SCANIA 1932686

Air Dryer (Twin Cannister)
4324310080 4324311910

1. Comments: for Volvo vehicles

2. Max. operating pressure: 13 bar
3. Voltage: 24 V

4. Heater: 894 260 043 2

5. Heating connection: System Volvo
6. Cartridge: 2x 4324102222
7.Port1: M22x1.5

11. Port 2: M 22x1.5

12. Exhaust: Snap-on contour

15. Mounting holes: M 12

16. Solenoid Valve: 442 019 1351
17. Solenoid: System Volvo

DAF 1517979; 1504947R

Volvo 1082030 8112337; RENAULT 5021170082

22.




UNITRUCK"®

AIR DRYER
UT-SV 1307

ot

UT-SV 1309

4=/

UT-SV 1311

®

UT-SV 1313

UT-SV 1315

o

UT-SV 1317

e

APPLICATION

LA8219

Exhaust Connector Snap-on Connector
Weight [Kg] 4.11 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 15,5
Unloader cut-out pressure [bar] 11,0+0,2
DAF /LEYLAND DB250 4x2 Bus Air
IRISBUS Bus Bus

IVECO 041017239 41000232 08132332
VOLVO 3194898 9957312

LA6711

Exhaust Connector Snap-on Connector
Heater Connection Type Kostal
M27x1,0(2 x @4,0)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
VOLVO F16/ FH16/F12/FH12/FLC
Volvo:1628919 1629927 1628915 1628195
Scania:394323 489832

LA8206

Exhaust Connector Snap-on Connector

Heater Connection Type Bayonet (2 x @4,0 + 1 x @4,5)
Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size VOSS NG12 M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: VOSS NG8 M16x1,5
Safety valve pressure [bar] 13,0

Unloader cut-out pressure [bar] 9,8+0,2

DAF, 1285548, 1518678, 1517969,

DAF / LEYLAND F75/F65/F85

MAN M 2000 MA L2000

Mercedes Benz:0014310115

ZB4578 ZB4580 ZB4545Service Part
LA8130+AE4528

DAF 1443153 1374293

AF / LEYLAND XF95

DAF / LEYLAND CF75

DAF /LEYLAND CF75 Tractor

DAF /LEYLAND CF65 Rigid

DAF / LEYLAND CF85 Tractor

DAF / LEYLAND 95XF 4x2 Tractor Air
DAF / LEYLAND F85

DAF / LEYLAND F95

DAF / LEYLAND F65

DAF / LEYLAND CF85DAF

Voss NG12 M22x1,5

ZB4580 Service Part LA8132+ AE4528
DAF: 1378835. 1443155

DAF /LEYLAND CF75 Tractor

DAF / LEYLAND XF95

DAF /LEYLAND CF85 Tractor

DAF / LEYLAND 95XF 4x2 Tractor Air
DAF /LEYLAND CF65 Rigid

DAF /LEYLAND CF75

DAF / LEYLAND CF85

DAF /LEYLAND F85

DAF /LEYLAND F95

DAF /LEYLAND F75

Voss NG12 M22x1,5

LA8224 Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet
(2x@4,0 +1x34,5)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 8,4 0,2
DAF / LEYLAND 45/55

MAN L 2000/ M 2000/F 2000
MAN:81521026096

DAF:ACHJ801 ACHE007 ACHA118

AIR DRYER

BUILT FOR RELIABILITY.

AIR DRYER APPLICATION

UT-SV 1308

3

UT-SV 1310

35>

UT-SV 1312

-

UT-SV 1314

E .
UT-SV 1316

o

UT-SV 1318

=

LA8286

Exhaust Connector Snap-on Connector
Heater Connection Type Volvo 'D' (2 x @3,5)
Heater Voltage [volts] 24 Volt

Weight [Kg] 3.88 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 17,0

Unloader cut-out pressure [bar] 12,0+0,2
Volv0:9957313 20409515 3172999 3194899
70369130 9517283

LA8271

Exhaust Connector Snap-on Connector
Heater Connection Type Volvo 'D' (2 x &3,5)
Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 8,5+0,2
VOLVO 20409513 20416145 8122460

LA8284

Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet ISO
15170A1-2.1.1.Ag/K3

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M16x1,5
Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 9,8+0,2
DAF 1351443 1314779

ZB4578 ZB4580 ZB4545Service Part
LA8130+AE4528

DAF 1443153 1374293

AF / LEYLAND XF95

DAF / LEYLAND CF75

DAF /LEYLAND CF75 Tractor

DAF /LEYLAND CF65 Rigid

DAF /LEYLAND CF85 Tractor

DAF / LEYLAND 95XF 4x2 Tractor Air
DAF /LEYLAND F85

DAF / LEYLAND F95

DAF / LEYLAND F65

DAF / LEYLAND CF85DAF

Voss NG12 M22x1,5

LA8116 Exhaust Connector Snap-on Connector
Exhaust Silencer fitted Yes

Heater Connection Type Bayonet ISO 15170
A1-2.1.1.Ag/K3

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size Flange

With internal Silencer No

Purge control Timed Purge

Safety valve pressure [bar] 13,0

Unloader cut-out pressure [bar] 10,0
Unloader cut-in pressure [bar] 8,8

Unloader pressure control range [bar]
1,20484210017000 Silencer

1119762004 Heater Plug

1141300F Desiccant Cartridge

K003442 Time Switch kit

K003442K50 Time Switch kit

K004858008 General Service Kit

LAB6735

Exhaust Connector @ 20,0 mm

Heater Connection Type Kostal

M27x1,0 (2 x @4,0)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) VOSS NG12 M22x1,5

Air Delivery port(s) VOSS NG12 M22x1,5
With internal Silencer Yes

Purge control Reservoir; Port:VOSS NG8
M16x1,5

Safety valve pressure [bar] Without
safety valve

Unloader cut-out pressure [bar] 12,0
(external Unloader)

MB, 0014310815, 0014312115

DAF, 1517911




AIR DRYER

BUILT FOR RELIABILITY.

AIRDRYER APPLICATION

UT-SV 1319

@

UT-SV 1321

g

UT-SV 1323

@

UT-SV 1325

- 4

UT-SV 1327

=

UT-SV 1329

B

AIR DRYER

78985 UT-SV 1320

cut-out (bar): 12.2

cut-out tolerance : +0.2
range : 0.9+0.7

inlet 1/ outlet 21 : M22x1.5
outlet 22 : M12x1.5

inlet 1 cut-off valve : w/o
inlet 1 depot valve : w/o
inlet 11 safety valve : -
port 5 : plugged
inlet12:13

heating element : 24V Deutsch
fittings : M12x1.75

78990

cut-out (bar) : 12.0
cut-out tolerance : 0.2
range : 1.0+0.3

inlet 1/ outlet 21 : M22x1.5
outlet 22 : M12x1.5
inlet 1 cut-off valve : w/o
inlet 1 depot valve : w/o
inlet 11 safety valve : -
port 5 : plugged
inlet12:13

heating element : w/o
fittings : M12x1.75

UT-SV 1322

87297

cut-out (bar): 11.5

cut-out tolerance : +0.3
range : 1.0£0.3

inlet 1/ outlet 21 : M22x1.5
outlet 22 : M12x1.5

inlet 1 cut-off valve : w/o
inlet 1 depot valve : w/o
inlet 11 safety valve : -
port 5 : plugged

inlet 12 : M22x1.5

inlet 13 : M16x1.5/plugged
heating element : w/o

UT-SV 1324

90548

cut-out (bar): 12.0

cut-out tolerance : +0.2
range : 1.0+0.3

inlet 1/ outlet 21 : M22x1.5
outlet 22 : M12x1.5

inlet 1 cut-off valve : w/o
inlet 1 depot valve : w/o
inlet 11 safety valve : -
port 5 : plugged

inlet 12 : M22x1.5/plugged
inlet 13 : M16x1.5/plugged
heating element : w/o

UT-SV 1326

LAG734

Exhaust Connector @ 20,0 mm

Air Inlet port(s) VOSS NG12 M22x1,5

Air Delivery port(s) VOSS NG12 M22x1,5
With internal Silencer Yes

Purge control Reservoir; Port: VOSS NG8
M16x1,5

Safety valve pressure [bar] Without

safety valve

Unloader cut-out pressure [bar] 12,0
(external Unloader)

DAIMLER ATEGO/MK

MB, 14312215, 0004313615, 0004318015
DAF,1517978

UT-SV 1328

Air Processing Unit

9325000020 9325000060
9325000070 9325000130
9325000140 9325001100

Service Part;
9324000240+9347050050

Cut-out pressure 12+0.3bar
DAF;1518170 1505230 1521074
Mercedes;0024310615 0024310715
0014317815 0014318115

Mercedes Actros Atego 3343AS 2053S
2535LS 2640LS 2643LS 1831LS 1840LS
2548LS

UT-SV 1330

UNITRUCK"

APPLI

78986

cut-out (bar): 10.3
cut-out tolerance : £0.2
range : 0.9+0.3

inlet 1/ outlet 21 : M22x1.5
outlet 22 : M12x1.5

inlet 1 cut-off valve : w/o
inlet 1 depot valve : c/w
inlet 11 safety valve : -
port 5 : nipple, M12x1.5
inlet12: 13

heating element : 24V Deutsch
fittings : M12x1.75

TION

87282

cut-out (bar) : 10.8

cut-out tolerance : 0.2
range : 1.3+0.2

inlet 1/ outlet 21 : M22x1.5
outlet 22 : M12x1.5

inlet 1 cut-off valve : w/o
inlet 1 depot valve : w/o
inlet 11 safety valve : -
port 5 : plugged

inlet 12 : M22x1.5/plugged
inlet 13 : M16x1.5/plugged
heating element : w/o

90498

cut-out (bar) : w/o governor
cut-out tolerance : -

range : -

inlet 1/ outlet 21 : 1/2"NPTF
outlet 22 : 1/4"NPTF

inlet 1 cut-off valve : w/o
inlet 1 depot valve : w/o
inlet 11 safety valve : 11 bar
port 5 : plugged

inlet 12 : M27x1.5 TPV

inlet 13 : -

heating element : 24V Packard

91309

cut-out (bar) : w/o governor
cut-out tolerance : -

range: -

inlet 1/ outlet 21 : 1/2"NPTF
outlet 22 : 1/4"NPTF

inlet 1 cut-off valve : w/o
inlet 1 depot valve : w/o
inlet 11 safety valve : 11 bar
port 5 : plugged

inlet12: 13

heating element : 24V Packard
fittings : 1/2" UNC

LA8203

Exhaust Connector @ 20,0 mm
Heater Connection Type Heater not
included

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size VOSS NG12
M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port:

VOSS NG8 M16x1,5, @9,5

Safety valve pressure [bar] 11,5
Unloader cut-out pressure [bar] 8,5 -0,4
MB, 0014314215

LA8002

Exhaust Connector Snap-on Connector
Heater Connection Type Kostal M27x1,0 (2 x @4,0)
Heater Voltage [volts] 24 Volt

Weight [Kg] 4.47 kg

Air Inlet port(s) size M22x1,5 N10172

Air Delivery port(s) size M22x1,5 N10172

With internal Silencer No

Purge control Timed Purge

Safety valve pressure [bar] 13,0

Unloader cut-out pressure [bar] 8,6 +0,4
Unloader pressure control range [bar] 0,8 +0,4
RENAULT, 5000791197 5010260351
5001837100




UNITRUCK"®

AIR DRYER
UT-SV 1331

UT-SV 1333

UT-SV 1335

UT-SV 1337

UT-SV 1339

UT-SV 1341

APPLICATION

LA8003

Exhaust Connector Snap-on Connector
Heater Connection Type Kostal M27x1,0 (2 x @4,0)
Heater Voltage [volts] 24 Volt

Weight [Kg] 4.47 kg

Air Inlet port(s) size M22x1,5 N10172

Air Delivery port(s) size M22x1,5 N10172
With internal Silencer No

Purge control Timed Purge

Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 9.5 +0.4
RENAULT R385/G340/R420

RENAULT, 5010260352, 5001837107
5010067531

LA8041

Exhaust Connector Snap-on Connector
Heater Connection Type Heater not included
Air Inlet port(s) size M22x1,5 N10172

Air Delivery port(s) size M22x1,5N10172
With internal Silencer Yes

Purge control Timed Purge

Safety valve pressure [bar] 15,5

Unloader cut-out pressure [bar] 12,5 +0,0/-0,4
RENAULT, 5010260640, 5001874282,

LA8016

Exhaust Connector Snap-on Connector
Air Inlet port(s) size M22x1,5 N10172

Air Delivery port(s) size M22x1,5 N10172
With internal Silencer No

Purge control Timed Purge

Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 9,5 +0,4
RENAULT, 5010422397, 5001874310

LA8209

Exhaust Connector Snap-on Connector
Heater Connection Type Heater not included
Air Inlet port(s) size VOSS NG12 M22x1,5
Air Delivery port(s) size VOSS NG12
M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: VOSS NG8
M16x1,5

Safety valve pressure [bar] 13,0

Unloader cut-out pressure [bar] 10,0 +/-0,2
MAN, 81521026100, 81521026106,
81521026098, 81521026151

LA8210

Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet ISO
15170 A1-2.1.1.Ag/K3

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size VOSS NG12 M22x1,5
Air Delivery port(s) size VOSS NG12 M22x1,5
With internal Silencer Yes

Purge control Reservoir; Port: VOSS NG8
M16x1,5

Safety valve pressure [bar] 13,0

Unloader cut-out pressure [bar] 10.0+0.2
MAN,81521026108 81521026104
81521026103 81521026149

IKARUS E91/E13 Medium Bus

LA8207

Exhaust Connector Snap-on Connector
Air Inlet port(s) size VOSS NG12 M22x1,5
Air Delivery port(s) size VOSS NG12
M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: VOSS NG8
M16x1,5

Safety valve pressure [bar] 13,0

Unloader cut-out pressure [bar] 8,5 +/-0,2
DENNIS

MAN, 81521026149 81521026117
81521026119

AIR DRYER

BUILT FOR RELIABILITY.

AIR DRYER APPLICATION

UT-SV 1332

.

UT-SV 1334

e

UT-SV 1336

®

UT-SV 1338

e

UT-SV 1340

=

UT-SV 1342

»

LA8006

Exhaust Connector Snap-on Connector
Heater Connection Type Kostal
M27x1,0 (2 x @4,0)

Heater Voltage [volts] 24 Volt

Weight [Kg] 4.47 kg

Air Inlet port(s) size M22x1,5 N10172
Air Delivery port(s) size M22x1,5 N10172
With internal Silencer No

Purge control Timed Purge

Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 8,6 +0,4
RENAULT, 5010260354

LA8040

Exhaust Connector Snap-on Connector
Air Inlet port(s) size M22x1,5 N10172

Air Delivery port(s) size M22x1,5N10172
With internal Silencer Yes

Purge control Timed Purge

Safety valve pressure [bar] 15,5
Unloader cut-out pressure [bar] 12,5 +0,0/-0,4
RENAULT, 5010260641 5010422396
5010260640

RENAULT TRUCKS PREMIUM
HD210/HD340/ HR300

4324100100 4324100830 4324100837
4. Cut-out pressure: 9.3+0.2

5. Operational range: 0.9+0.3

6. Voltage: 24 V

7. Cartridge: 432410223 2

11. Port 1: M 22x1.5

12. Port21: M 22x1.5

13. Port 22: M 12x1.5

14. Exhaust: Union

15. Port4: M 12x1.5

16. Mounting holes: M 12x1.75

DAF 1505965

DENNIS AB4324100837

SCANIA 1369763 1441751 1517979
Scania 3/4 series

LA8211

Exhaust Connector Snap-on Connector
Heater Connection Type Heater not included
Air Inlet port(s) size VOSS NG12 M22x1,5
Air Delivery port(s) size VOSS NG12 M22x1,5
With internal Silencer Yes

Purge control Reservoir; Port: VOSS NG8
M16x1,5

Safety valve pressure [bar] 15,5

Unloader cut-out pressure [bar] 12,5£0,2
MAN, 81521026101 81521029101,
81521026097, 81521026107

LA8212

Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet ISO

15170 A1-2.1.1.Ag/K3

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size VOSS NG12 M22x1,5

Air Delivery port(s) size VOSS NG12 M22x1,5
Purge control Reservoir; Port: VOSS NG8
M16x1,5

Safety valve pressure [bar] 15,5

Unloader cut-out pressure [bar] 12,5+0,2

MAN 81521026105,81521026109 81521026102
DAF 1517967 1505033R,1505032R,1518674,
IVECO, 0867628

RENAULT 5021170073

LA8007

Exhaust Connector Snap-on Connector
Heater Connection Type Kostal
M27x1,0 (2 x @4,0)

Heater Voltage [volts] 24 Volt

Weight [Kg] 4.47 kg

Air Inlet port(s) size M22x1,5 N10172
Air Delivery port(s) size M22x1,5 N10172
With internal Silencer No

Purge control Timed Purge

Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 8,6 +0,4
RENAULT, 5001837116




AIR DRYER

BUILT FOR RELIABILITY.

AIR DRYER APPLICATION

UT-SV 1343

UT-SV 1345

UT-SV 1347

UT-SV 1349

UT-SV 1351

UT-SV 1353

LA8222

Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet
(2x@4,0 + 1 xD4,5)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 15,5
Unloader cut-out pressure [bar] 11,0+0,2
DAF / LEYLAND DB250 4x2 Bus Air
IRISBUS Bus Bus

lveco:08160471 08160466 041017242
08160465 08160467 41000229

LA8272

Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet ISO
15170 A1 -2.1.1.Ag/K3

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar]15.5
Unloader cut-out pressure [bar] 11.0+0,2
DAF /LEYLAND DB250 4x2 Bus Air
IRISBUS Bus Bus

IVECO 41031473

Air Processing Unit

ZB4587

LA8125+AE4502

lveco:41211254 4211383

41211384 41285078

IVECO EUROCARGO 120/170
IVECO EUROCARGO 180/440
Bayonet ISO 15170 A1 -2.1.1.Ag/K3
Unloader cut-out pressure [bar] 10,5

LA8229

Exhaust Connector Snap-on Connector
Heater Connection Type Heater not included
Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 9,5+0,2
Scania: 1387552 1441751
lveco:42125015 42079486

42079485 42079484

Optare:16H0087

LA6222

Exhaust Connector Snap-on Connector
Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 15,5
Unloader cut-out pressure [bar] 12,5+0,2
MAN , 81521029037

RENAULT 5022117073
IVECO,08160470 1517967

IRISBUS Karosa/RECREO

LA6709

Exhaust Connector Snap-on Connector
Heater Connection Type Kostal
M27x1,0 (2 x @4,0)

Heater Voltage [volts] 24 Volt

Weight [Kg] 4.09 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 10,0
(external Unloader)

DAIMLER 1628/1650/1935/ 2428....4x2 Rigid

AIR DRYER
UT-SV 1344

UT-SV 1346

UT-SV 1348

UT-SV 1350

UT-SV 1352

UNITRUCK

APPLICATION

LA8220

Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet
(2x@4,0 + 1 x @4,5)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 15,5
Unloader cut-out pressure [bar] 11,0+0,2
DAF / LEYLAND DB250 4x2 Bus Air
IRISBUS Bus

IVECO STRALIS 6x2 Tractor
IVECO,08160475 08160473

08160472 41000230

LA8062

Exhaust Connector Snap-on Connector
Heater Connection Type Bayonet
DIN72585 (2x@2.5)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5 N10172
Air Delivery port(s) size M22x1,5 N10172
With internal Silencer No

Purge control Timed Purge

Safety valve pressure [bar] 15.5
Unloader cut-out pressure [bar] 11.0
IVECO, 97164492

LA8242

Exhaust Connector @ 20,0 mm

Heater Connection Type Kostal
M27x1,0 (2 x @4,0)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M22x1,5

With internal Silencer Yes

Purge control Reservoir; Port: M12x1,5
Safety valve pressure [bar] 15,5
Unloader cut-out pressure [bar] 11,0+0,2
lveco:042058277

LA8223

Exhaust Connector Snap-on Connector
Heater Connection Type Kostal
M27x1,0 (2 x @4,0)

Heater Voltage [volts] 24 Volt

Air Inlet port(s) size 1/2" - 14 NPTF

Air Delivery port(s) size 1/2" - 14 NPTF
With internal Silencer Yes

Purge control Reservoir Port:1/4"-18 NPTF
Safety valve pressure [bar] 13,0
Unloader cut-out pressure [bar] 8,410,2
DAF ACU8494 ABRA728

DENNIS 658330 653865 652885

LA8050

Heater Connection Type Kostal

M27x1,0 (2 x @4,0)

Air Inlet port(s) size M22x1,5 N10172

Air Delivery port(s) size M22x1,5
N10172Safety valve pressure [bar] 13
Unloader cut-out pressure [bar] 10,0
ALEXANDER DENNIS R SERIES 657516
ALEXANDER DENNIS Enviro 400
ALEXANDER DENNIS Trident MK2




SOLENOID VALVE
FOR COMMERCIAL VEHICLES

UNITRUCK"




4 ®
SOLENOID VALVE UNITRUCK
BUILT FOR RELIABILITY.
SOLENOID VALVE

UT-SV 1101 4720726280 WABCO UT-SV 1102 4720726390 WABCO
1518898 DAF 1518100 DAF

81521606116 MAN . . ) 0049978536 MERCEDES BENZ

81521606115 MAN 0059971136 MERCEDES BENZ
. ere

UT-SV 1103 4721726000 WABCO UT-SV 1104 4721726200 WABCO
1934962 SCANIA 1934965 SCANIA
0009970712 MERCEDES BENZ A0039971436 MERCEDES BENZ
0049979036 MERCEDES BENZ : i 1518101 DAF

T
L
-

UT-SV 1105 4720706390 WABCO UT-SV 1106 4721726260 WABCO
1506134 DAF 1738496 SCANIA
0049975536 MERCEDES BENZ 1330025 DAF
0049979336 MERCEDES BENZ i ; : i 41026587 IVECO
5010347978 RENAULT

UT-SV 1107 4722500000 4721950180
1335961 41027223
1934980 41027224
3127660 BaSy o 1376793
8133302 T@ o T 1518589
79100580415 ] ° 1307040
1504901

4720706390 Wabco 20411199
1506134 DAF 3165147
004 997 5536 MERCEDES BENZ 1 3183424
004 997 9336 MERCEDES BENZ et /

005997 1236 MERCEDES BENZ

UT-SV 2101 4721706000 WABCO 4721717000 WABCO
1934956 SCANIA 1934960 SCANIA
0039975336 MERCEDES BENZ i 0049978936 MERCEDES BENZ
0049979036 MERCEDES BENZ ‘

4721717040 0501321459
1934961 1734012
0091647 1 1621930
! 1670254
1386811




4 ®
UNITRUCK SOLENOID VALVE
BUILT FOR RELIABILITY.
SOLENOID VALVE

UT-SV 2105 0675225 IMI Norgren UT-SV 2106 4720902020 WABCO
1340231 SCANIA . 21090119 VOLVO

1421322 SCANIA g N 205604 SCANIA

1536304 SCANIA I 254682 SCANIA

2038653 SCANIA | 301484 SCANIA

303470 SCANIA

UT-SV 2107 1457276 1457275
1379776 1379772
1314514 ; - 1303948

4720174800 WABCO UT-SV 2110 1121759 SCANIA
1506132 DAF 1318860 SCANIA
0007600378 MERCEDES BENZ 1334037 SCANIA
8633101000 MERCEDES BENZ 1423566 SCANIA

1488083 SCANIA

BUILT FOR RELIABILITY.

Double Valve REF. NO. APPLICATION Double Valve REF. NO. APPLICATION

UT-SV 2201 9452600057 MERCEDES BENZ UT-SV 2202 A9452601957 MERCEDES BENZ
9452601457 MERCEDES BENZ 9702601157 MERCEDES BENZ

Racaca B
e OC

UT-SV 2203 4213509242 WABCO UT-SV 2204 4213509232 WABCO
0025403897 MERCEDES BENZ 4422312221 WABCO
A0025403797 MERCEDES BENZ

3 T
ool | i
S pES

=




RELAY VALVE

BUILT FOR RELIABILITY.

UNITRUCK"

RELAY VALVE REF. NO. APPLICATION RELAY VALVE REF. NO. APPLICATION

UT-SV 2301 1521247 VOLVO UT-SV 2302 1521248 VOLVO
1654350 VOLVO 1669420 VOLVO
1527590 ; L 1667210
1527591 = :-3@?
1653360
1669419
267858

UT-SV 2303 20775173 UT-SV 2304

7420775168 RENAULT
ol 20775168 VOLVO
' - . 8171245 VOLVO

SHIFTING CYLINDER

BUILT FOR RELIABILITY.

SHIFTING CYLINDER REF. NO. APPLICATION SHIFTING CYLINDER REF. NO. APPLICATION

UT-SV 2401 4724000700
A0012604663
0012604963

001260 3463

267813

1521249
1669421
1653072
1653380

WABCO UT-SV 2402
MERCEDES BENZ
MERCEDES BENZ

MERCEDES BENZ UT-SV 2404

UT-SV 2408

0068348/0692173
068348/068987
692173

0798 2230/0819 8807
81.32638.0006

000 267 0419
000267 2119

50 00 289 840
1527363/1662411
1662959

0012609763

626156AM
001 260 2563

3192384

DAF

DAF

DAF

Iveco

MAN
Mercedes-Benz
Mercedes-Benz
Renault

Volvo

Volvo

MERCEDES BENZ

KONGSBERG
MERCEDES BENZ




SHIFTING CYLINDER

BUILT FOR RELIABILITY.

UNITRUCK"®

SHIFTING CYLINDER

REF. NO. APPLICATION SHIFTING CYLINDER REF. NO. APPLICATION

UT-SV 2409

1653070
1669422

INHIBITOR VALVE

BUILT FOR RELIABILITY.

INHIBITOR VALVE REF. NO. APPLICATION

UT-SV 2501

UT-SV 2503

UT-SV 2505

UT-SV 2507

UT-SV 2509

1069841
1653074
1669277
1669324
1672042
3091916
3092123
3095080

7408172628
1672230
8172628

7401672231
1672231

6038 202 003
0069237/0692183
0692183/0069237
81.52170.6064
81.52170.6128
000 260 9757
001260 6257
0012606657
0012606757
1526797/1662413

190498

000 260 5457
001260 3557
0012604757
001260 8457

VOLVO
VOLVO

VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

RENAULT
VOLVO
VOLVO

RENAULT
VOLVO

ZF

DAF

DAF

MAN

MAN

MERCEDES BENZ
MERCEDES BENZ
MERCEDES BENZ
MERCEDES BENZ
VOLVO

KNORR

MERCEDES BENZ
MERCEDES BENZ
MERCEDES BENZ
MERCEDES BENZ

UT-SV 2410

i &

INHIBITOR VALVE REF. NO. APPLICATION

UT-SV 2502

UT-SV 2504

UT-SV 2506

UT-SV 2508

35445
20590252
3192385
20514657
20366720
21450362

1653156

1068951
1652731
1653076
1669278
1669297
8172627

642909
642909
1934912
267859
268759

1319557

FEBINO.
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

VOLVO

SCANIA




8 ®
g'UIT“FERnRELIABILITY. U N I T R U c K

OTHER REF. NO. APPLICATION OTHER REF. NO. APPLICATION

UT-SV 2601 1621247 VOLVO UT-SV 2602 1521248 VOLVO
1654350 VOLVO 1669420 VOLVO
1527590 1667210
1527591
1653360
1669419
267858
UT-SV 2603 20775173 VOLVO UT-SV 2604 7420775168 RENAULT
20775168 VOLVO
8171245 VOLVO

32.




UNITRUCK"®

SOLENOID VALVE

UT-SV 3101
UT-SV 3103

UT-SV 3105

=

g

N

=1
UT-SV 3107
i -

UT-SV 3109

-

SOLENOID VALVE REF. NO. APPLICATION

UT-SV 4101

REF. NO. APPLICATION

0675224
8143017
3986621
1610566
1614305
1589340

0675518
2.25508
1078318

0675344
1610570
8143021
1589342

0675223
8158342
8143015
1614303
1589338
1594342
1610564

0501100029
1528269
501034 7767
5010347767
481830
3112823
3944717

3017993
3098354

IMINORGREN
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

IMINORGREN
DT NO.
VOLVO

IMINORGREN
VOLVO
VOLVO
VOLVO

IMINORGREN
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

CUMMINS
CUMMINS

UT-SV 3102

UT-SV 3104

UT-SV 3106

UT-SV 3108

UT-SV 3110

UT-SV 4102

=
“e

SOLENOID VALVE

BUILT FOR RELIABILITY.

SOLENOID VALVE REF. NO. APPLICATION

0675271
2.25507
7401078316
1078316
3165144

0675317
8143019
1610568
1589344

0675226
1421323
1340232
1536305
525090

338050 101
0000872918
1077588
1088588
3944186
8143448
814344800

3944715

IMINORGREN
DT NO.
RENAULT
VOLVO
VOLVO

IMINORGREN
VOLVO
VOLVO
VOLVO

IMINORGREN
SCANIA
SCANIA
SCANIA
SCANIA

HALDEX
RENAULT
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

SOLENOID UALVE

BUILT FOR RELIABILITY.

SOLENOID VALVE REF. NO. APPLICATION

3035346
3018453

CUMMINS
CUMMINS




MULTI CIRCUIT PROTECTION VALVE

BUILT FOR RELIABILITY.

MULTI CIRCUIT PROTECTION VALVE | APPLICATION MULTI CIRCUIT PROTECTION VALVE | APPLICATION

UT-SV 1401

UT-SV 1403

UT-SV 1405

UT-SV 1407

UT-SV 1409

UT-SV 1411

AE4502 UT-SV 1402
Circuit 3 Non-feedback with no Bypass

Circuit 3 Open/close pressure [bar] 8,0

Circuit 4 Non-feedback with no Bypass

Circuit 4 Open/close pressure [bar] 8,0
Bleed-back safety feature Controlled by Circuit 1
Air Inlet port(s) size M16x1,5

Air Delivery port(s) size 21,22,23,24:

M16x1,5; 26: M22x1,5

Circuit 1 Feedback with Bypass

Circuit 1 Open/close pressure [bar] 7,5

Circuit 2 Feedback with Bypass

Circuit 2 Open/close pressure [bar] 7,5

VECO 42535024

AE4s10 UT-SV 1404

Circuit 3 Feedback with no Bypass

Circuit 3 Open/close pressure [bar] 7,5

Circuit 3 Pressure Limiting [bar] 8,5 +0,0/-0,4
Circuit 4 Feedback with no Bypass

Circuit 4 Open/close pressure [bar] 7,5

Circuit 4 Pressure Limiting [bar] 8,5 +0,0/-0,4
Bleed-back safety feature Controlled by Circuit 1
With Electrical pressure sensing Yes

Air Inlet port(s) size Voss NG12 M22x1,5

Air Delivery port(s) size Voss NG12 M22x1,5
Circuit 1 Feedback with Bypass

Circuit 1 Open/close pressure [bar] 9,0

Circuit 1 Pressure Limiting [bar] 10,0

Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 9,0

Circuit 2 - Pressure Limiting [bar] 10,0 +/-0,2
MERCEDES 0034315706 0034315406 0034316806

9347050030
DAF 1519210
MERCEDES 0034316206

UT-SV 1406

AE4526 UT-SV 1408
Circuit 3 Non-feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,5

Circuit 4 Feedback with Bypass

Circuit 4 - Open/close pressure [bar] 9,0
Bleed-back safety feature Controlled by Circuit 1
Air Inlet port(s) size M16x1,5

Air Delivery port(s) size Voss NG12 M22x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 9,0

Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 9,0

DAF 1612053

9347020020 UT-SV 1410

. Max. operating pressure: 20 bar
. Opening pressure 21: 6.3+0.4-0.3 bar
. Opening pressure 22: 6.3+0.4-0.3 bar
. Opening pressure 23: >=6.0 bar
. Opening pressure 24: >=6.0 bar
. Port 1: M 22x1.5
. Port 11: M 16x1.5
. Port 12: M 16x1.5
11. Port 21: M 16x1.5
12. Port22: M 16x1.5
13. Port 23: M 16x1.5
14.Port 24: M 16x1.5
15. Closing pressure 21/22: >=5.5 bar
17. Closing pressure 23: 4.2-0.3 bar
18. Closing pressure 24: 5.8-0.3 bar
Renault-VI JN/JP/JX S100/S130/S150/S90

AE4437 UT-SV 1412
Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,3

Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 6,5
Bleed-back safety feature Not included

Circuits' supply Internal parallel supply to all Circuits
Weight [Kg] 0.880 kg

Air Inlet port(s) size Voss NG12 M22x1,5

Air Delivery port(s) size 21,22,23,24: Voss NG12
M22x1,5

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,5

Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,5

UNITRUCK"

AE4528

Circuit 3 Non-feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,5

Circuit 3 - Pressure Limiting [bar] 8,5

Circuit 4 Feedback with Bypass

Circuit 4 Open/close pressure [bar] 7,0

Circuit 4 Pressure Limiting [bar] Not included
Bleed-back safety feature Controlled by Circuit 1
Circuits' supply Internal series supply from Circuits 1 and 2to 3and 4
With Electrical pressure sensing Yes

Air Inlet port(s) size M16x1,5

Air Delivery port(s) size 21,22,23,24,25,26: M22x1,5
Circuit 1 Feedback with Bypass

Circuit 1 Open/close pressure [bar] 7,0

Circuit 1 Pressure Limiting [bar] Not included

Circuit 2 Feedback with Bypass

Circuit 2 Open/close pressure [bar] 7,0

Circuit 2 Pressure Limiting [bar] Not included

DAF 1612054 1607416

AE4516

Circuit 3 Non-feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 8,0
Circuit 4 Non-feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 8,0
Bleed-back safety feature Controlled by Circuit 1
Air Inlet port(s) size M16x1,5

Air Delivery port(s) size 21,22,23,24:
M16x1,5; 26: M22x1,5

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 7,5
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 7,5
IVECO 42536813 42553849

9347050050

9347050010

DAF 1505128
MERCEDES

0034315406 0034316106
0034315706 0034316806

AE4525

Circuit 3 Non-feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 7,3
Circuit 4 Non-feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 7,0
Bleed-back safety feature Controlled by Circuit 1
Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24,25,26:
M22x1,5; 27,28: M12x1,5; IP,IPM

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 7,0
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 7,0
5010525808 5010422351

RENAULT; PREMIUM, MIDLIM
MAGNUM, KERAX

9347023800

Max. operating pressure: 20 bar
. Opening pressure 21: 7.0-0.3 bar
. Opening pressure 22: 7.0-0.3 bar
. Opening pressure 23: 7.0-0.3 bar
. Opening pressure 24: 7.0-0.3 bar
. Port1: M 22x1.5
.Port11: M 16x1.5
.Port12: M 16x1.5

10. Port 22/23/24: M 16x1.5

13. Closing pressure 21/22/23/24: >=5.0 bar

DAF 2500 8 x 4 Rigid

6. DAF 2800 ATl 4 x 2 Tractor

8. DAF 3300 4 x 2 Tractor

9. DAF MB200 Single decker bus

10. DAF SB3000 Single decker bus

AE4443

Circuit 3 Feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 7,3
Circuit 4 Feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 6,5
Bleed-back safety feature Not included
Weight [Kg] 0.801 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,5
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,5

.34.




UNITRUCK"

MULTI CIRCUIT PROTECTION VALVE
UT-SV 1413

UT-SV 1420

UT-SV 1422

APPLICATION

AE4610

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,3

Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 6,5
Bleed-back safety feature Controlled by Circuit 1
Circuits' supply Internal parallel supply to all Circuits
Weight [Kg] 0.710 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Openl/close pressure [bar] 6,5

Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,5

AE4178

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 3 - Pressure Limiting [bar] Not included
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 4 - Pressure Limiting [bar] Not included
Bleed-back safety feature Not included

Circuits' supply Internal series supply from Circuits 1 and 2 to 3 and 4
With Electrical pressure sensing No

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with no Bypass

Circuit 1 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 1 - Pressure Limiting [bar] Not included
Circuit 2 Feedback with no Bypass

Circuit 2 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 2 - Pressure Limiting [bar] Not included

AE4162

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 3 - Pressure Limiting [bar] Not included
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 4 - Pressure Limiting [bar] Not included
Bleed-back safety feature Not included

Circuits' supply External series supply from
Circuits 1and 2to 3and 4

With Electrical pressure sensing No

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 11,12,21,22,23,24: M16x1,5
Circuit 1 Feedback with no Bypass

Circuit 1 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 1 - Pressure Limiting [bar] Not included
Circuit 2 Feedback with no Bypass

Circuit 2 - Open/close pressure [bar] 7,0 +0/-0,3
Circuit 2 - Pressure Limiting [bar] Not included

AE4615

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 8,3
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 8,0
Bleed-back safety feature Controlled by Circuit 1
Circuits' supply Internal series supply from
Circuits 1and 2to 3 and 4

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 8,0
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 8,0

AE4412

Circuit 3 Feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 7,0
Circuit 4 Feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 7,0
Bleed-back safety feature Not included
Circuits' supply Internal parallel

supply to all CircuitsWeight [Kg] 0.800 kg
Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Openl/close pressure [bar] 7,0
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 7,0

AE4605

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,3
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 7,0
Bleed-back safety feature Controlled by Circuit 1
Circuits' supply Internal series supply from
Circuits 1and 2to 3 and 4

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size Flange 4x @ 9 mm
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 7,0
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 7,0

MULTI CIRCUIT PROTECTION VALVE

UT-SV 1415

UT-SV 1417

UT-SV 1419

UT-SV 1423

UT-SV 1425

BUILT FOR RELIABILITY.

MULTI CIRCUIT PROTECTION VALVE | APPLICATION

AE4170

Circuit 3 Feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 7,0
Circuit 4 Feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 7,0
Bleed-back safety feature Not included
Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24:
M16x1,5

Circuit 1 Feedback with no Bypass
Circuit 1 - Open/close pressure [bar] 7,0
Circuit 2 Feedback with no Bypass
Circuit 2 - Open/close pressure [bar] 7,0

AE4404

Circuit 3 Feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 7,0
Circuit 4 Feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 7,0
Bleed-back safety feature Not included
Air Inlet port(s) size Voss NG12 M22x1,5
Air Delivery port(s) size 21,22,23,24:
Voss NG12 M22x1,5

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 7,0
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 7,0

9347022610
Max. operating pressure: 20 bar
. Opening pressure 21: 7.0-0.3 bar
. Opening pressure 22: 7.0-0.3 bar
. Opening pressure 23: 7.7-0.5 bar
. Opening pressure 24: 7.7-0.5 bar
. Port 1: M 22x1.5 Voss
. Port21: M 22x1.5 Voss
. Port 22: M 22x1.5 Voss
. Port 23: M 22x1.5f. Voss
10. Port 24: M 22x1.5 f. Voss
11. Closing pressure 21: >6.7 bar
12. Closing pressure 22: >6.7 bar
13. Closing pressure 23: >6.0 bar
14. Closing pressure 24: >6.0 bar

9347020020
. Max. operating pressure: 20 bar
. Opening pressure 21: 6.3+0.4-0.3 bar
. Opening pressure 22: 6.3+0.4-0.3 bar
. Opening pressure 23: >=6.0 bar
. Opening pressure 24: >=6.0 bar
. Port 1: M 22x1.5
. Port 11: M 16x1.5
. Port 12: M 16x1.5
11. Port21: M 16x1.5
12. Port 22: M 16x1.5
13. Port 23: M 16x1.5
14. Port 24: M 16x1.5
15. Closing pressure 21/22: >=5.5 bar
17. Closing pressure 23: 4.2-0.3 bar
18. Closing pressure 24: 5.8-0.3 bar
Renault-VI JN/JP/JX S$100/S130/S150/S90

AE4440

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,3/ 4,5
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 7,0/ 4,5
Bleed-back safety feature Not included
Circuits' supply Internal parallel supply to all Circuits
Weight [Kg] 0.900 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size Flange 4x @ 9 mm
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 7,0/ 4,5
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 7,0/ 4,5

AE4452

Circuit 3 Non-feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 5,8
Circuit 4 Non-feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 5,8
Bleed-back safety feature Not included
Weight [Kg] 0.820 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 11,12,21,22,23,24:
M16x1,5

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,3
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,3




MULTI CIRCUIT PROTECTION VALVE

BUILT FOR RELIABILITY.

MULTI CIRCUIT PROTECTION VALVE | APPLICATION

UT-SV 1426

UT-SV 1428

UT-SV 1430

UT-SV 1432

UT-SV 1434

UT-SV 1436

AEstss UT-SV 1427

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 6,5 +0/-0,3
Circuit 3 - Pressure Limiting [bar] Not included
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 6,5 +0/-0,3
Circuit 4 - Pressure Limiting [bar] Not included
Bleed-back safety feature Not included

Circuits' supply Internal series supply from
Circuits 1and 2to 3and 4

With Electrical pressure sensing No

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with no Bypass.

Circuit 1 - Open/close pressure [bar] 6,5 +0/-0,3
Circuit 1 - Pressure Limiting [bar] Not included
Circuit 2 Feedback with no Bypass

Circuit 2 - Open/close pressure [bar] 6,5 +0/-0,3
Circuit 2 - Pressure Limiting [bar] Not included

9347141450

Max. operating pressure: 13 bar
Opening pressure 21: 6.5-0.3 bar
Opening pressure 22: 6.5-0.3 bar
Opening pressure 23: 7.2-0.3 bar
Opening pressure 24: 6.5-0.3 bar
Port 1: M 22x1.5

Port21: M 16x1.5

Port 22: M 16x1.5

Port 23: M 16x1.5

10. Port 24: M 16x1.5

11. Closing pressure 21: >=4.5 bar
12. Closing pressure 22: >=4.5 bar
13. Closing pressure 23: >=4.5 bar
14. Closing pressure 24: >=4.5 bar
15. Type: dynamic

©CONOOHWN =

AE4613

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,0
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 6,9
Bleed-back safety feature Controlled by Circuit 1
Circuits' supply Internal series supply from
Circuits 1and 2to 3and 4

Weight [Kg] 0.820 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,9
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,9

AE4604

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 5,8
Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 5,8
Bleed-back safety feature Controlled by Circuit 2
Circuits' supply External series supply from
Circuits 1and 2to 3 and 4

Weight [Kg] 0.715 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M16x1,5

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,3
Circuit 2 Feedback with Bypass

Circuit 2 - Openl/close pressure [bar] 6,3

AE4609

Circuit 3 Non-feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,0
Circuit 4 Non-feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 6,9
Bleed-back safety feature Controlled by Circuit 1
Circuits' supply Internal series supply from
Circuits 1and 2to 3 and 4

Air Inlet port(s) size Voss NG12 M22x1,5

Air Delivery port(s) size 21,22,23,24: Voss NG12
M22x1,5

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,9

Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,9

AE4422 UT-SV 1437
Circuit 3 Non-feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,0
Circuit 4 Non-feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 6,9
Bleed-back safety feature Not included
Weight [Kg] 0.924 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M22x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,9
Circuit 2 Feedback with no Bypass

Circuit 2 - Open/close pressure [bar] 6,9

UNITRUCK"

MULTI CIRCUIT PROTECTION VALVE | APPLICATION

9347147400 9347141400
. Max. operating pressure: 13 bar
. Opening pressure 21: 6.3-0.3 bar
. Opening pressure 22: 6.3-0.3 bar
. Opening pressure 23: 5.8-0.3 bar
. Opening pressure 24: 5.8-0.3 bar
.Port1: M 22x1.5
.Port21: M 16x1.5
. Port22: M 16x1.5
10. Port 23: M 16x1.5
11. Port 24: M 16x1.5
Volvo:20716313 21225479 20382309
20755195 20452151

AE4405

Circuit 3 Non-feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 6,0
Circuit 4 Non-feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 6,0
Bleed-back safety feature Not included
Weight [Kg] 0.862 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Non-feedback with Bypass
Circuit 1 - Open/close pressure [bar] 6,5
Circuit 2 Non-feedback with Bypass
Circuit 2 - Open/close pressure [bar] 6,5

AE4603

Circuit 3 Non-feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 5,8
Circuit 4 Non-feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 5,8
Bleed-back safety feature Controlled by Circuit 2
Circuits' supply Internal series supply from
Circuits 1and 2to 3and 4

Weight [Kg] 0.820 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,3
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,3

AE4428

Circuit 3 Feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 5,8
Circuit 4 Feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 5,8
Bleed-back safety feature Not included
Circuits' supply Internal series supply from
Circuits 1and 2to 3 and 4

Weight [Kg] 0.840 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size M16x1,5

Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,3
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,3

AE4800

Circuit 3 Feedback with no Bypass

Circuit 3 - Open/close pressure [bar] 7,5

Circuit 3 - Pressure Limiting [bar] 8,5

Circuit 4 Feedback with no Bypass

Circuit 4 - Open/close pressure [bar] 7,5

Circuit 4 - Pressure Limiting [bar] 8,5
Bleed-back safety feature Controlled by Circuit 1
Circuits' supply Internal series supply from
Circuits 1and 2 to 3 and 4

With Electrical pressure sensing Yes

Air Delivery port(s) size Voss NG12 M22x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 9,0

Circuit 1 - Pressure Limiting [bar] Not included
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 9,0

Circuit 2 - Pressure Limiting [bar] Not includedMB;0034319706

AE4447

Circuit 3 Non-feedback with no Bypass
Circuit 3 - Open/close pressure [bar] 7,0
Circuit 4 Non-feedback with no Bypass
Circuit 4 - Open/close pressure [bar] 6,9
Bleed-back safety feature Not included
Weight [Kg] 0.864 kg

Air Inlet port(s) size M22x1,5

Air Delivery port(s) size 21,22,23,24: M16x1,5
Circuit 1 Feedback with Bypass

Circuit 1 - Open/close pressure [bar] 6,9
Circuit 2 Feedback with Bypass

Circuit 2 - Open/close pressure [bar] 6,9

.36.




UNITRUCK"®

ECAS SOIENOID VALVE
UT-SV 1601

UT-SV 1603

UT-SV 1607

UT-SV 1609

UT-SV 1611

APPLICATION

4729000000 4729000010 (RA)
Max. operating pressure: 5 ..13 bar
Application: Rear axle

Protection class: IP 66 A

3 individual solenoids M27x1

VOSS connection M22x1.5

Rated current: 0.22 A

Voltage: 24 V

DAF :0527488 1506179
IVCEO:97106463

DAIMLER 0003276225

MAN: 81.259029154 81.259026154
NEOPLAN:11016528 102140300
RENAULT:5010096484 5021170199

UT-SV 1602

4729051120

2. Comments: ECAS Solenoid

Block for drive axle + Lift axle.
Mounting position: Solenoid
connections on top

3. Max. operating pressure: 5 ... 13 bar
4. Port threads: M 22x1.5 JED-388

5. Protection class: IP 6K6K

6. Duty cycle: Solenoids | =25% & Il = 100%
7.2x KOSTAL bayonet

8. Rated current: 0.33 A

9. with 1x;fording ability

DAF:1278419

4729000210 (FA)

2. Max. operating pressure: 5 ... 13 bar
3. Application: Front axle

4. Port threads: M 22x1.5 Parker

5. Protection class: IP 67

7.1 individual solenoid M27x1

8. Rated current: 0.22 A

9. Voltage: 24 V

11. VOSS connection3x M22x1.5 1x M16x1.5
DAF1 0527487

KOGELL] 325209

KRONE[ 5810492 58104920
MB[10003276325

UT-SV 1606

4728800010(RA)

4728800530

1.1x bayonet DIN 72585-A1-4.1-Sn/K2
2.M 22x1.5(JED-388)

3.ECAS Ill with silencer

DAF:1343254

MAN:TGS TGL TGM TGA 81.259026239
RENAULT:5010422345

VOLVO 20707211

IRISBUS 41211013

SCANIA 1343254, 1302682,

UT-SV 1608

4729000050 4729000070 4729000130
Comments:22=23+22 23=21/14 21=x
Application: Rear axle

Port threads: M 22x1.5

Protection class: IP 67

Rated current: 0.22 A

Voltage: 24 V w/o silencer

3 individual solenoids M27x1
M22x1.5/M16x1.5(DIN thread)
DAF:1518107 1505293

SCANIA: 1381455 1309501

UT-SV 1610

4729000650 RA

2 solenoids 1xbayonet
DIN 72585-A1-4.2-Sn/K1
M 22x1.5(JED-152)

with silencer
IVEC0:41003310

UT-SV 1612

BUILT FOR RELIABILITY.

ECAS SOIENOID VALVE | APPLICATION

4729000330

1. Comments: ECAS Solenoid

Block for drive axle (Connector 894 600 451 2)
Mounting position: ports upward

2. Max. operating pressure: 5 ... 13 bar
6. 2 individualsolenoids M27x1
7.Rated current: 0.22 A

8. Voltage: 24 V

9. M 22x1.5 (JED-388)

connections with access

DAF: 1240836 1249319

SCANIA 1934988

ERF :116275

4729000530 (RA)

1. Max. operating pressure: 5 ... 13 bar
2. Application: Rear axle

3. Port threads: M 22x1.5 Voss

4. Protection class: IP 6K6K

6. 1x bayonet DIN 72585-A1-4.1-Sn/K1
7.Rated current: 0.22 A

8. Voltage: 24 V

9. M 22x1.5(JED-388)

10. with silencer

DAF: 1302682

IVCEO: 500310195

MAN: 81.259026146 81.259029146
MB: 0003276725

NEOPLAN: 11016529

RENAULT: 5010143096

4729051070 4729051110 RALA/TA
Technical Sheet

1x bayonet DIN 72585-A1-4.1-Sn/K2
1x bayonet DIN 72585-A1-4.2-Sn/K2
M 22x1.5(JED-388) with 1xsilencer
2. Max. operating pressure: 5 ..13 bar
6. Duty cycle: Solenoids | =25% & Il = 100%
8. Rated current: 0.34 A

DAF( 11305452 1518109
MAN1181.259026147 81.259029147
81.25902623 Ford 4C463038BA

MB 10003276825 0003276125
SCANIAT 1453164 337816,

4728800300 (RA)

Technical Sheet

1. Max. operating pressure: 5 ... 13 bar
2. Application: Rear axle

3. Port threads: M 22x1.5 Parker

6. Electrical connection: Bayonet (DIN)
8. Voltage: 24 V 2 solenoids

9. 1x bayonet DIN 72585-A1-4.2-Sn/K1
10.ECAS Il with silencer
MAN:TGA.81.259026238

IVCEO 41211012

RENAULT 5010457434

DAF 1343255

SCANIA 1934984

VOLVO 20707214

4729001100 RA/TA

1x bayonet DIN 72585-A1-4.1-Sn/K1
1x bayonet DIN 72585-A1-4.2-Sn/K1
5x M22x1.5(JED-388)with silencer
DAF:1506508

IVCEO0:41003309

4729000600 (RA)

1x bayonet DIN72585-A1-4.1-Sn/K2
M 22x1.5(JED-388)

Port 21 open; with silencer

DAF :1506180

Mercedes Actros

AXOR :0003276725




ECAS SOIENOID VALVE

BUILT FOR RELIABILITY.

ECAS SOIENOID VALVE | APPLICATION

UT-SV 1613

UT-SV 1615

UT-SV 1617

UT-SV 1621

4729000620 RA

1x bayonet DIN 72585-A1-4.1-Sn/K1
M 22x1.5(JED-388)without silencer
SCANIA:1383956 1934994

DAF :1505294

4729000060 4729000120

2. Max. operating pressure: 5..13 bar
3. Application: Rear axle

4. Port threads: M 22x1.5

5. without silencer

6. Duty cycle: Continuous

7. Electrical connection: 3 x M 27x1
8. Rated current: 0.22 A

9. 3 individualsolenoids M27x1

10. M 22x1.5(DIN thread)
DAF:1505292

SCANIA:1381454 1105670

MAN :81259026127

4729000550 RA

2 solenoids 1x bayonet
DIN 72585-A1-4.2Sn/K1
M 22x1.5(JED-388)
Schmitz:052540
DAF:1304587
Kogel:339077

MAN 81259026145
MAN N2259026005
SCANIA 1934991
KRONE 5813398
KRONE 58133980

4729000560 (RA/FA)

1x bayonet DIN 72585-A1-4.1-Sn/K2
1x bayonet DIN 72585-A1-4.2-Sn/K2
1x bayonet DIN 72585-A1-3.6-Sn/K2
M 22x1.5(JED-388)with silencer
DAF: 1193658 1517908

IVCEO: 5006302001

MAN: 81.259026168

MB: 0003277425

NEOPLAN: 11016533

VOLVO: 20356554

4728800200 (FA)
Technical Sheet
. Max. operating pressure: 5 ... 13 bar
. Port threads: M 22x1.5 (JED-388)
. Protection class: IP 6K9K
. Duty cycle: Continuous
. Rated current: 0.34.A
. Voltage: 24 V
. 1x bayonet DIN 72585-A1-3.6-Sn/K2
VOLVO 20734168
MAN 81259026144
RENAULT 4729000540
RENAULT 5010143097
RENAULT 5010457151

UNITRUCK"

ECAS SOIENOID VALVE
UT-SV 1614

UT-SV 1616

UT-SV 1618

UT-SV 1620

APPLICATION

4729001120 RA/LA

1x bayonet DIN 72585-A1-4.1-Sn/K1
1x bayonet DIN 72585-A1-3.1-Sn/K1
5x M22x1.5(JED-388)without silencer
DAF:1518918

SCANIA:1383958

4729000500  (RA/FA)

2. Max. operating pressure: 5 ... 13 bar
3. Application: Bus

4. Port threads: M 22x1.5

5. Protection class: IP 67

6. Duty cycle: Continuous

7.6 individual solenoids M27x1
8. Rated current: 0.22 A

9. Voltage: 24 V

10. M 22x1.5(DIN thread)

11. with silencer

DAF :1518108

IVCEO: 98490676
MAN:81.259026118
MB:0003276525
NEOPLAN:102140400 11016530

4729051160 RA/LA/TA

1x bayonet DIN 72585-A1-4.1-Sn/K2
1x bayonet DIN 72585-A1-4.2-Sn/K2
M 22x1.5(JED-388)with 1x silencer.
DAF:1523999

RENAULT :5010143098

4729000570 RA/FA

1x bayonet DIN 72585-A1-3.6-Sn/K1
1x bayonet DIN 72585-A1-4.1-Sn/K1
5x M22x1.5(JED-388)with silencer
MAN:81259026158

SCANIA 1448080




FUEL METERING UNIT

FUEL METERING UNIT REF. NO. APPLICATION

UT-SV 4201

UT-SV 4203

096547943
96547943
96563003
096563003
0445010296
1347282
0928400802
0928400607

0928400627
51.12505.0027
51125050027
5257595
4937597

VOLVO
FORD
MAZDA
PEUGEOT
CITROEN

BOSCH
MAN
MAN
CUMMINS
CUMMINS

UT-SV 4202

UT-SV 4204

0928400617
51.12505.0027
51125050027
5257595
4937597

0928400728
71754810
71754810

FUEL METERING UNIT REF. NO. APPLICATION

BOSCH
MAN
MAN
CUMMINS
CUMMINS

BOSCH
FIAT
IVECO

.39.




FUEL METERING UNIT UNITRUCK"®

FUEL METERING UNIT REF. NO. APPLICATION FUEL METERING UNIT REF. NO. APPLICATION

UT-SV 4205

UT-SV 4207

UT-SV 4209

F

UT-SV 4211

UT-SV 4213

F

UT-SV 4215

UT-SV 4217

0928400726
71754810
71754810

0928400666
3964009
3947541
R5191780AD
3965090
3972814
4941064
4989042
4932457

0928400746
51125050033
51.12505.0033
51.12505-0033
51111037792
51111037792

0928400638
4937597
1638153
1623055
42541851
42541851

0928400644

0928400620
51125050024
51.12505.0024

0928400769

BOSCH
FIAT
IVECO

BOSCH
MAN

MAN

MAN
NEOPLAN
TEMSA

BOSCH
CUMMINS
DAF

DAF
IVECO
CASE IH

UT-SV 4206

é

UT-SV 4208

UT-SV 4210

-4

UT-SV 4212

5

UT-SV 4214

g

UT-SV 4216

P

UT-SV 4218

0928400689
3752647
5267036

1111010B550-0000

1111010B550
T4 10807

G2100-1111100-A38

610800080072

0928400712

0928400481
4937597
1638153
1623055
42541851
42541851

0928400670
7421103266
7421638691
01340622
20794130
20993071
21060258
21103266

0928400761

51125050041
51154200003
51111037797

0928400473
09218400484
4088518
1623055

0928400739
0928400619

BOSCH
CATERPILLAR
CUMMINS
FAW

FAW

PERKINS
YUCHAI
WEICHAI

BOSCH
CUMMINS
DAF

DAF
IVECO
CASE IH

BOSCH
RENAULT
RENAULT
KHD
VOLVO
VOLVO
VOLVO
VOLVO

BOSCH
BOSCH
CUMMINS
DAF

BOSCH
BOSCH

42560782/504197201 IVECO
42560782 FIAT

u 8029205 HOFFER

v 42560782 ALFAROMEO
42560782 LANCIA
81.091 SIDAT

P




UNITRUCK" FUEL METERING UNIT

FUEL METERING UNIT REF. NO. APPLICATION FUEL METERING UNIT REF. NO. APPLICATION

UT-SV 4219

UT-SV 4221

P

UT-SV 4223

P

UT-SV 4225

f

UT-SV 4227

P

UT-SV 4229

0928400789

0928400673

0928400750
33100-2A420
33100-2A420

0928400535
0928400496
97208073
97208073
2-90000-914-0

0928400743

0928400633

BOSCH

BOSCH
BOSCH
CHEVROLET
GMC

1ISUZU

UT-SV 4220

UT-SV 4222

UT-SV 4224

P

UT-SV 4226

P

UT-SV 4228

P

UT-SV 4230

0928400667

0928400653
97369850
97369850
97369850
97369850
8-97369-850-0
8-97369-850-1

0928400672

0928400669
96440341
96859151
96440341
96440341

0928400635
0928400633
0928400659
0928400700
0928400727
0928400682
81.090.81.455
8029204
8200430063

0928400487

BOSCH

BOSCH
CHEVROLET
CHEVROLET
GMC

OPEL
ISUZU
ISUZU

BOSCH
CHEVROLET
CHEVROLET
OPEL
VAUXHALL

BOSCH
BOSCH
BOSCH
BOSCH
BOSCH
BOSCH
FISPA
HOFFER
RENAULT

BOSCH
BOSCH
BOSCH
RENAULT
NISSAN

0928400682 0928400502
0928400659 0928400584
0928400700 8200179757
0928400727 8200179757
i i

UT-SV 4231 0928400831 UT-SV 4232 0928400690

) 3




4
FUEL METERING UNIT UNITRUCK
BUILT FOR RELIABILITY.
FUEL METERING UNIT

UT-SV 4233 0928400671 BOSCH UT-SV 4234 0928400646
226701194R OEM

5802001914 OEM r
1

UT-SV 4235 0928400742 UT-SV 4236 0928400681
5001867926

1561067JG1
81.082
8029193
fa 81.082
: 8029193
81.082
1

UT-SV 4237 0928400652 UT-SV 4238 0928400744

UT-SV 4239 0928400797 UT-SV 4240 0928400736

UT-SV 4241 294200-0360 DENSO
1920.QK CITROEN
9665523380 FIAT
6C1Q-9358-AB FORD
1514885 FORD
RFY013V21A MAZDA
AB860-VMO9A NISSAN
1465A031/1460A037T MITSUBISHI
1920.QK PEUGEOT




PRESSURE RELIEF VALVE

PRESSURE RELIEF VALVE | REF. NO. APPLICATION

PRESSURE RELIEF VALVE |REF. NO. APPLICATION

UT-SV 4301 FOOR000756 CUMMINS UT-SV 4302 110010007 CUMMINS
UT-SV 4303 1110010015 — UT-SV 4304 1110010035 IVECO
KIA CUMMINS
FORD
HONDA
MAZDA
UT-SV 4305 1110010028 VOLVO UT-SV 4306 095420-0320 NISSAN
MAN ISUZU
' NISSAN MITSUBISHI
UT-SV 4307 095420-0281 NISSAN UT-SV 4308 095420-0260 IsuzU
ISUZU MITSUBISHI
MITSUBISHI

rd

A43.




FUELPRESSURE SENSOR

FUEL PRESSURE SENSOR | REF. NO. APPLICATION

UT-SV 4401

UT-SV 4403

UT-SV 4405

UT-SV 4407

ol

499000-0160

0281002937
55195078
1581708/04216218
504152959/55195078
504247741
51274210229
3843100/30677300
093185626
7420792328

0281006364
51274210229
20792328/21407309
04216218/1581708
504247741
504152959/55195078
55195078/5093112AA

0281006325
0281002851
3974092/5297641
5260246
1705135
42574913
42567283
BG6X-9F479-CA
2T2906051B
754721212

TOYATO
PRADO

UT-SV 4402

BOSCH

FIAT

FORD
ALFAROMEO
IVECO

MAN

VOLVO

OPEL
RENAULT RVI

UT-SV 4404

BOSCH

MAN

VOLVO

FORD

IVECO
ALFAROMEO
FIAT

UT-SV 4406

BOSCH UT-SV 4408
BOSCH

CUMMINS

CUMMINS

DAF

FIAT

IVECO

FORD

VW

KOMATSU

0281006158
55195078
1581708/04216218
504152959/55195078
504247741
51274210229
3843100/30677300
093185626
7420792328

0281006425
51274210229
3843100
1581708/04216218
55207677

55195078
55195078/504152959

0281002909
8200600208
8200600206
7701069617
7701068387
906915100003
8029111

FUEL PRESSURE SENSOR | REF. NO. APPLICATION

BOSCH

FIAT

FORD
ALFAROMEO
IVECO

MAN

VOLVO

OPEL
RENAULT RVI

BOSCH

MAN

VOLVO

FORD

IVECO
ALFAROMEO
FIAT

BOSCH
RENAULT
RENAULT
RENAULT
RENAULT
MWM
HOFFER

CUMMINS ISX




Q ] UNiITRUCK’

UNITRUCK

JIONYLINAG

®

NITRUCK

UNITRUCK

4

EN N NN

U




UNITRUCK®

Marketing & Promotion

UNITRUCK

®

X
O.
- <
-
™
<,
)

®

=] o)

DIDNAULINND

UNITRUCK

ANV Wy




wod'Auewiab-)yoniyiun@ojul : jlew-3 wod 'Auewsab-yonaiun'mmm//:dyH
GZLL8990 LEL 9800:-®I!1qO0N LL0L09.89LG9800:Xed [LLL09L.89LG9800:I°1
90€LLE eulyg ‘noyzie] ‘Ayunod nluery “jied |eliasnpuj uebuop : ppy

al1“09 3AILONOLNY OHNO4 ONVIFrIHZ

MONULINN



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52

